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 חוקי הפילוג  –  11גברה אל

 כפל חד איבר בדו איבר  –חוק הפילוג 

𝒂(𝒃 + 𝒄) = 𝒂𝒃 + 𝒂𝒄 

 

 כפל דו איבר בדו איבר  –חוק הפילוג המורחב 

(𝒂 + 𝒃)(𝒄 + 𝒅) = 𝒂𝒄 + 𝒂𝒅 + 𝒃𝒄 + 𝒃𝒅 

 

 לתרגול תשאלו

1.  𝑥(𝑎 + 𝑏) =? 

(1) 𝑎𝑥 + 𝑎𝑏 

(2) 𝑏𝑥 + 𝑎𝑥 

(3) 𝑎𝑏 + 𝑥𝑏 

(4) 𝑏𝑥 + 𝑎𝑏 

 __________________________________________________________________________ 

2. −2(𝑎 + 𝑏 − 𝑐) =? 

(1) −2𝑎 − 2𝑏 − 2𝑐 

(2) −2𝑎 + 2𝑏 + 2𝑐 

(3) 2𝑎 − 2𝑏 + 2𝑐 

(4) −2𝑎 − 2𝑏 + 2𝑐 

 __________________________________________________________________________ 

3. (𝑥 + 1)(𝑥 − 5) =? 

(1) 𝑥2 − 4𝑥 − 5 

(2) 𝑥2 − 4𝑥 + 5 

(3) −𝑥2 − 4𝑥 − 5 

(4) 𝑥2 + 4𝑥 − 5 
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4. (𝑎 + 𝑏)(−𝑥 + 2) =? 

(1) 2𝑏 + 𝑏𝑥 + 2𝑎 − 𝑎𝑥 

(2) 2𝑏 − 𝑏𝑥 − 2𝑎 − 𝑎𝑥 

(3) 2𝑏 − 𝑏𝑥 + 2𝑎 − 𝑎𝑥 

(4) 2𝑏 − 𝑏𝑥 + 2𝑎 + 𝑎𝑥 

 __________________________________________________________________________ 

5. −2(𝑥 + 3) − 9(1 − 𝑥) + 3(2𝑥 + 4) =? 

(1) 13𝑥 + 3  

(2) −13𝑥 − 3 

(3) −13𝑥 + 3 

(4) 13𝑥 − 3 

 __________________________________________________________________________ 

6. 
1

𝑏
∙ (−2𝑏)(𝑥 + 𝑦) + 2𝑥 + 2 (𝑦 +

1

2
) =? 

(1) 1 

(2) 0 

(3) −1 

 לא נכונות  3 -ו 1,2תשובות  (4)

 __________________________________________________________________________ 

7. 3 (𝑥 +
1

9
− 𝑦) − 2 (𝑥 +

2

3
+ 2𝑦) − (−𝑥 +

5

8
+

1

2
𝑦) =? 

(1) 2𝑥 − 3.5𝑦 −
13

8
 

(2) −2𝑥 − 3.5𝑦 −
13

8
 

(3) 2𝑥 + 3.5𝑦 −
13

8
 

(4) 2𝑥 − 3.5𝑦 +
13

8
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8. −(1 − 𝑎)(2 + 𝑏) − (−𝑏 + 1)(𝑎 − 5) =? 

(1) 3𝑎𝑏 − 6𝑏 + 3 

(2) 3𝑎𝑏 + 6𝑏 + 3 

(3) 3𝑎𝑏 − 6𝑏 − 3 

(4) 3𝑎𝑏 + 6𝑏 − 3 

 __________________________________________________________________________ 

9. (
1

2
𝑥 + 1) (

1

3𝑥
− 2) =? 

(1) 
1

3𝑥
+ 𝑥 −

11

6
 

(2) 
1

3𝑥
+ 𝑥 +

11

6
 

(3) 
1

3𝑥
− 𝑥 +

11

6
 

(4) 
1

3𝑥
− 𝑥 −

11

6
 

 __________________________________________________________________________ 

10. (−(𝑎 + 𝑐)(𝑑 − 𝑏)) ∙
1

𝑎𝑏𝑐𝑑
 =? 

(1) −
1

𝑏𝑐
+

1

𝑐𝑑
−

1

𝑎𝑏
−

1

𝑎𝑑
 

(2) −
1

𝑏𝑐
+

1

𝑐𝑑
+

1

𝑎𝑏
+

1

𝑎𝑑
 

(3) −
1

𝑏𝑐
+

1

𝑐𝑑
−

1

𝑎𝑏
+

1

𝑎𝑑
 

(4) −
1

𝑏𝑐
−

1

𝑐𝑑
−

1

𝑎𝑏
+

1

𝑎𝑑
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 תשובות סופיות  – חוקי הפילוג – 11אלגברה 

 

 10 9 8 7 6 5 4 3 2 1 שאלה 

 3 4 1 1 1 4 3 1 4 2 תשובה
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